P
HF4%T A10BHAT

¥ 2 6 [@Bi
E;B%fﬁm%.
MAES

BRRKR

(14:00387)

BRERX 5 W R
EX HEEH
=X Fﬁ*f?% = L%
2 = o | 861 i BER 0035
S =X EdD s 832 s = 13.43
= [X 124 x_,_zg T6 L [)
Y N 28], T 0] - e — L
kg—fz FET B 1 11 E
534 NEREE 765|x’\ (%) 2,168 51?8 13 321 245
#5 p— 781] %) ’ 88 i4.38 325
EX P zl?zﬁ W (335| 761 11750 82 14. 99
“*‘6[ x e 69” , fz)m 10 12 9.40 10‘;"
H:—\x e e 14 88 . 38
o | R s 672|x T — - 20
’?“‘8[ j; ZF - 197| g"1)0| : 09 847 10153
XX = EE 16 89 .84
e | B - 482'2 1 ! g 5 o8
| REX 4 wx 51 30 96
Fa ﬁgsﬁ ol 978 ] 73
X RX fﬁEltw/ T R (0/46| 17778 11790 62 17. 94
AR z 3= 662] ) ' 86 19,50 116
_T&:\IZ 3:1?_‘%) = S (0/86| 1348 13. 61 14 11. 86
551|2: R A 303| 208)8| : ™ 1146 12120
| EX P £ i8 10 .52
saw | E — 628'2 — 2 . 5.4 30
| EX =4 ¥ 56 49 . 06
Eil = #E e 1.236 ] I 130
| HERX fﬁE-{z~§ waEE (334| 562 15758 59 21. 81
F15 X v 58— 867| %) 40 §.70 138
| BER R, U I 1571 25 17
16 il 5 — 630| g:) ' 13 7,49 65
2R iﬁt?’( BEE (0/34| 1,264 13.03 8 .5
| wEE | 22 . ] ’ T —1 1,60
Y EX % £ IR s i 6 . 60
| EX CBADE £ i4 34 . 66
J&Tﬁ;?: Ehu;% 526'2 : ((?2)2| ! &1 9. 60 e
H;x =7 ey 12. 39 .42
H:—\x dh g e 8 B 11. 55 .45
55321 'Eg;{%;?tpg_ 343|x (%) 1,411 1?373 10,54 118
| BERX ]:1?_‘6 =& e (326| 577 16786 88 11. 26
’%ﬁ“‘?f: _._\ﬁ—ﬂ’zy&- 155| f)5)0| 64 11,33 13285
| HERX =B P i§ ] .94
| BRERX =38 % 5. 27 .58
g YR R LA f— 1800 62
k;_—\IZ ) ERRE RE (0778| 165 11.47 62 20. 33
532'5: — L= by 383 \ ?3)0| %0 156 §.98 MK
FIX rFE 8% -
J&'—%Zﬁ NFEHR—L 5 R (0 763 1773 113 5 5
| pEx | FRIT 12 706] 550 . 627
42 & B 2. 13 :
o2 il didd 839|x Go) 1318 o el 10
AR i S - 5750 2057
28 p. v — 267| ?5)(” : 130 1119 11133
| EX N i T4 108 . 83
%20 - Eﬁﬁ 392|x s ("3%:) 511 gg i1.96 238
_BEX | KEt N HEE (0/78| 770 14.23 28 1322
ﬁgo 7 D — 178| 10) 67 1790 66
REX | 3t A () 333 17.09 e e
31 e t4- 209| 0) 23 1138 110
| REX EERE s (ool 565 19 .29
~ o — 558] == (°5/°4) 401 33 19756 o 42
£ i 7] . 61
&t 17. 294?271:1 (%) 1,105 18, }g k) gg 63
e 17(0220| 34 514 14776 63 15. /1
5. 00 2,040 12. 85
' 11,85 4,634
13.43




